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B.Com. DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Sixth Semester 

Commerce 

SPECIAL ACCOUNTS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all the questions. 

1. Define doubtful assets. 

 \¢÷uPzvØQh©õÚ PhßPÒ Áøμ¯Ö. 

2. Write any two features of bank accounting system. 

 Á[Q PnUQ¯À •øÓ Cμsk A®\[PøÍ GÊxP. 

3. What is the meaning of surrender value. 

 \μnøhuÀ ©v¨¦ ö£õ¸Ò GßÚ? 

4. What is meant by reinsurance? 

 ©ÖPõ¨¥k ö£õ¸Ò ¯õx? 

5. What is contingency reserve? 

 uØö\¯À JxURk GßÓõÀ GßÚ? 

6. What is double accounts systems? 

 Cμmøh PnUQ¯À •øÓ GßÓõÀ GßÚ? 
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7. Define a holding company. 
 ¤i¨¦ {ÖÁÚ® Áøμ¯Ö. 

8. What is minority interest? 

 ]Ö£õßø©°Úº Ámi GßÓõÀ GßÚ? 

9. What is  voyage account? 

 £¯nU PnUSPÒ GßÓõÀ GßÚ? 

10. What is primage? 

 •ußø©¯õÚøÁ GßÓõÀ GßÚ? 

 Section B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the types of investment. 

   •u½miß ÁøPPøÍ £mi¯¼kP. 

Or 

 (b) Narrate the special features of ship system of 
posting. 

   CkøP°k® P¨£À Aø©¨¤ß ]Ó¨¦ A®\[PøÍ 
GÊxP. 

12. (a) A new fire insurance company received premiums 
totalling Rs.86,00,000 (net). Claims totalled 
Rs.18,50,000 and the expenses of management 
including commission amounted Rs.36,20,000 all in 
the first year of its working what is the profit 
earned by the company? 

   J¸ ¦v¯ w Põ¨¥mk {ÖÁÚ® ¹,.86,00,000 ({Pμ) 
Põ¨¥k ö£ØÓx. ÷Põ¸uÀ ö©õzu® ¹.18,50,000 
©ØÖ® ÷©»õsø© ö\»ÄPÒ P/S ¹.36,20,000 
÷\º¢v¸¢ux. A¢u {ÖÁÚ® GÆÁÍÄ C»õ£® 
\®£õvUS®? 

Or 
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 (b) A New marine insurance company reported the 
following figures for the first year of its working. 
Make necessary risks for unexpired risks @ 100% on 
net premium. 

 Rs. 

Premium received on original policies 80,00,000

Reinsurance premium paid 11,00,000

Reinsurance premium received 3,50,000

Claims  11,00,000

Commission of direct business 4,65,000

Expenses of management 21,00,000

   J¸ ¦v¯ PhÀ Põ¨¥mk {ÖÁÚ® ¤ßÁ¸® 
uPÁÀPøÍ •uÀ Á¸hzvØS AÎzxÒÍx. 
÷uøÁ¯õÚ A£õ¯[PøÍ ö\»Âh¨£õu A£õ¯[PÒ 
100% ß Põ¨¥k E¸ÁõUSP. 

 ¹. 

Esø©¯õÚ £õ¼]PÒ Põ¨¥k ö£ØÓx 80,00,000

©ÖPõ¨¥mk ¥›ª¯® ö\¾zv¯x 11,00,000

©ÖPõ¨¥mk ¥›ª¯® ö£ØÓx 3,50,000

÷Põ¸uÀ 11,00,000

uμS ÷|μi ÁoPzvÀ 4,65,000

÷©»õsø© ö\»ÄPÒ 21,00,000

13. (a) From the following particulars draw up (1) capital 
account and (2) general balance sheet as on 30th 
June, 1996 on double accounts system. 

 Rs. 

Authorised capital 30,00,000

Subscribed capital 26,00,000

11% Debentures 4,00,000
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Trade creditors 1,60,000

Reserves 1,50,000

Trade debtors 3,80,000

Cash in hand and at banks 3,50,000

Investments( reserve) 1,50,000

Stock 2,40,000

Expenditure to 30th June 1995;

Land 1,20,000

Shafting etc 13,50,000

Machinery 4,00,000

Buildings 1,30,000

  The expenditure during the year ended 30.6.1996 
was Rs.2,50,000 

  Rs.2,50,000 and Rs.1,00,000 respectively on the last 
three items and a renewal fund of Rs.2,50,000 had 
been created. The balancing item of Rs.1,60,000 
may be taken as profit of the company. 

   ¤ßÁ¸® uPÁÀPÎß ÁøμÄ (1) ‰»uÚ PnUS  
(2) ö£õx JxURk 30áúß 1996 ß Cμmøh £vÄ 
•øÓ. 

 ¹. 

A[RP›UP¨£mh •uÀ 30,00,000
\¢uõ ‰»uÚ® 26,00,000
Phß£zvμ® 4,00,000
ÁoP PhÜ¢÷uõº 1,60,000
JxURk 1,50,000
ÁoP PhÚõÎPÒ 3,80,000
øP öμõUP® ©ØÖ® Á[Q öμõUP® 3,50,000
•u½k (JxURk) 1,50,000
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\μUS 2,40,000

ö\»ÂÚ[PÒ 30 áúß 1995 

{»® 1,20,000

÷å¨i[ 13,50,000

C¯¢vμ® 4,00,000

Pmih® 1,30,000

  30.6.1996 C¢u Á¸h® ö\»ÂÚ® ¹.2,50,000, 
¹.2,50,000 ©ØÖ® ¹.1,00,000 •øÓ¯õP ‰ßÖ 
Á¸h ¦x¨¤zuÀ {v ¹.2,50,000 E¸ÁõUP¨£mhx. 
«u•ÒÍ E¸¨£iPÒ ¹.1,60,000 {ÖÁÚzvß 
»õ£©õP GkzxU öPõÒÍ¨£h»õ®. 

Or 

 (b) Explain the provision of resonable return and 
disposal of surplus of electric supply company. 

   ªß\õμ Â{÷¯õP {ÖÁÚzvß E£› {¯õ¯©õÚ 
Á¸Áõ´ ©ØÖ® APØÖÁuØPõÚ HØ£õkPøÍ ÂÁ›. 

14. (a) While preparing a consolidated balance sheet what 
amount would you carry to capital reserve account? 

   J¸[Qøn¢u C¸¨¦{ø» u¯õ›US®÷£õx G¢u 
öuõøPø¯ ‰»uÚ JxURmk PnUQØS 
GkzxUöPõÒÃº? 

Or 

 (b) How would you ascertain the minority interest? 

   ]Ö£õßø©°Úº Ámiø¯ G¨£i PnUQkÁõ´? 

15. (a) How to calculate voyage in progress? 

   •ß÷ÚØÓ¨ £¯nzøu GÆÁõÖ PnUQkÁx? 

Or 

 (b) Discuss the passage money is treated as income in 
voyage account. 

   £zv°ß £n® £¯nU PnUQÀ Á¸©õÚ©õP 
P¸u¨£kQÓuõ ÂÁõv. 
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 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following ledger balance of Laxmi bank limited, 
prepare the profit and loss accountant and balance sheet 
as on 31st March, 1996: 

 Rs. 
(‘000) 

 Rs. 
(‘000) 

Share capital  Payment of 
employees 

74

12,500 equity 
shares of 
Rs.100 each 

1,250 Depreciation on 
premises 

22

Statutory 
reserve 

600 Interest, discount 
and commission 

245

Current 
accounts and 
deposits A/c 

7,732 Cash in hand and 
with reserve 

-

Acceptance of 
behalf of 
customers 

1,200 Bank of India 1,584

P and L 
Account 
(balance) 

15 Money at cell and 
short notice 

274

Interest paid 27 Bills discount 379

Government 
securities 

600 Loans and advances 4,665

Other 
securities 

825 Bank premises and 
furnitures 

418

Shares and 
stock 

637 Freehold and lease 
hold 

337

  Make a provision for rebate of bills discounted 
Rs.3,000 
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 ö»m_ª Á[Q ¼ªöhmiß ÷£÷μk C¸¨¦ ¤ßÁ¸©õÖ 
31 ©õºa, 1996 US C»õ£ |mh PnUS ©ØÖ® C¸¨¦  
{ø»U SÔ¨¦ u¯õ›UPÄ®. 

 ¹. 
(‘000) 

 ¹. 
(‘000) 

£[S ‰»uÚ® FÈ¯ºPÐUS 
ö\¾zv¯x 

74

12,500 \õuõμn 
£[SPÒ ¹.100 
Ãu® 

1,250 ÁÍõP ÷u´©õÚ® 22

\mh JxURk 600 Ámi, uÒÐ£i 
©ØÖ® uμS  

245

|h¨¦ PnUS 
©ØÖ® øÁ¨¦ 

7,732 øPöμõUP® ©ØÖ® 
JxURk 

-

ÁõiUøP¯õÍº 
\õº£õP HØÖU 
öPõshx 

1,200 £õ[U B¨ C¢v¯ 1,584

C»õ£ |mh 
P/S (C¸¨¦) 

15 AøÇ¨¦ ©ØÖ® 
C¸¨¦hß £n®  

274

Ámi 
ö\¾zv¯x 

27 ¤À uÒÐ£i 379

Aμ_ £zvμ[PÒ 600 Phß ©ØÖ® 
•ß£n® 

4,665

¤Ó £zvμ[PÒ 825 Á[Q ÁÍõP® ©ØÖ® 
uÍÁõh[PÒ 

418

£[S ©ØÖ® 
C¸¨¦ 

637 ©øÚxøn ©ØÖ® 
SzuøP 

337

  uÒÐ£i ö\´¯¨£mh ¤ÀPÒ «uõÚ uÒÐ£iUS 
¹.3,000 HØ£õk ö\´²[PÒ. 
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17. A life insurance company disclosed a fund of Rs.20,00,000 
of the balance sheet total Rs.45,00,000 on 31st March, 
1996 before taking the following into consideration: 

 (a) A claim of Rs.10,000 was intimated and admitted 
but not paid during the year 

 (b) A claim of Rs.6,000 outstanding in the books for 8 
years in written back 

 (c) Interest on securities accrued Rs.800, but not 
received during the year 

 (d) Rent of the own building occupied Rs.2,000 

 (e) Premium of Rs. 600 is payable under reinsurance 

 (f) Reinsurance recoveries Rs.26,000 

 (g) Bonus utilised in reduction of premium Rs.10,000 

 (h) Agents commission to be paid Rs.8,000 . 

  Pass the necessary journal entries for the omissions, 
recompute the find and show the balance sheet total 
after making the above adjustments. 

 J¸ B²Ò Põ¨¥mk {ÖÁÚ® ¹.20,00,000 {vø¯ 
öÁÎ°mhx ©ØÖ® ¹.45,00,000 C¸¨¦{ø» SÔ¨¦ 31 
©õºa 1996 ¤ßÁ¸ÁÚÁØøÓ PÁÚzvÀ öPõÒÁuØS•ß  

 (A) ¹.10,000 ÷PõμÀ öu›ÂUP¨£mk 
J¨¦UöPõÒÍ¨£mhx. BÚõÀ C¢u BsiÀ 
ö\¾zu¨£hÂÀø» 

 (B) 8 BskPÍõP ¦zuP[PÎÀ {¾øÁ°À EÒÍ 
¹.6,000 E›ø©÷PõμÀ «sk® GÊu¨£mhx 

 (C) £zvμ[PÒ «uõÚ Ámi ¹.800 US EzuμÁõu® 
AÎzux BÚõÀ A¢u BsiÀ ö£Ó¨£hÂÀø» 

 (D) ö\õ¢u Pmihzvß ÁõhøP ¹.2,000 
BUQμªUP¨£mkÒÍx. 

 (E) ¹.600 Cß ¤›ª¯® ©ÖPõ¨¥miß RÌ 
ö\¾zu¨£k® 

 (F) ©ÖPõ¨¥mk «ÒP£mhx ¹.26,000 
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 (G) ¥›ª¯® SøÓ¨£vÀ ¹.10,000 ÷£õÚì 
£¯ß£kzu¨£kQÓx 

 (H) •PÁº uμS ¹.8,000 ö\¾zu¨£mhx 

  ÷©÷» EÒÍ SøÓ¨£õkPÐUS ÷uøÁ¯õÚ 
SÔ¨÷£k, {vø¯ «sk® PnUQmk ÷©÷» EÒÍ 
©õØÓ[PøÍ ö\´u¤ß C¸¨¦{ø» ö©õzuzøu 
Põs¤. 

18. Explain the advantages and disadvantages of double 
account system. 

Cμmøh PnUQ°¯À•øÓ°ß |ßø©PÒ ©ØÖ® 
wø©PøÍ ÂÁ›. 

19. H Ltd acquired 80,000 shares of Rs.10 each in S Ltd on” 
1st October, 1995. The summarised balance sheets of H 
Ltd. and S Ltd on 31.3.96. 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

 Assets H Ltd 
Rs. 

S Ltd 
Rs. 

Share 
capital in 
shares of 
Rs.10 each  

20,00,000  10,00,000  Machinery 6,00,000 4,50,000

Reserve 1,00,000  1,50,000  Furniture 20,000 40,000

Profit and 
loss A/c 

50,000  45,000  Shares in S Ltd 8,80,000 -

9% 
debentures 

-  2,00,000  9% Debentures in 
S Ltd 

80,000 -

Creditors 4,00,000  2,00,000  Stock 5,20,000 6,50,000

Bills 
payable 

20,000  10,000  Debtors 1,80,000 2,70,000

     Bills receivable 10,000 15,000

     Cash 2,80,000 1,80,000

 25,70,000  16,05,000   25,70,000 16,05,000

 Bills receivable of S Ltd. include bills for Rs.8,000 
accepted by H Ltd. and creditors of S Ltd. include 
Rs.20,000 due to H Ltd. An amount of Rs.30,000 was 
transferred by S Ltd. from the current year’s profits to 
reserves. 
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 You are required to prepare the consolidated balance 
sheet as on 31st March,1996 showing therein how your 
figures are made up. 

 H ¼ªöhm 80,000 ® £[SPøÍ J¸ £[Qß Âø» ¹.10 
Ãu® S ¼ªöhmih® Áõ[Q¯x C¸¨¦{ø» H ¼ªöhm 
©ØÖ®  
S ¼ªöhm _¸UP©õP öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ H Ltd 
¹. 

 S Ltd 
¹. 

 Assets H Ltd 
¹. 

S Ltd 
¹. 

£[S •uÀ 
£[S JßÔß 
¹.10 Ãu® 

20,00,000  10,00,000  C¯¢v® 6,00,000 4,50,000

JxURk 1,00,000  1,50,000  uÍÁõh[PÒ 20,000 40,000
C»õ£ |mh 
P/S 

50,000  45,000  S ¼ªöhm 
£[S  

8,80,000 -

9% Phß 
£zvμ® 

-  2,00,000  9% Phß 

£zvμ® S 
¼ªöhm 

80,000

PhÜ¢÷uõº 4,00,000  2,00,000  \μUS 5,20,000 6,50,000
ö\¾zxa^mk 20,000  10,000  PhÚõÎPÒ 1,80,000 2,70,000

     ö£ÖuÀ ^mk 10,000 15,000

     öμõUP® 2,80,000 1,80,000

 25,70,000  16,05,000   25,70,000 16,05,000

 ö£ÖuÀ ^mk S ¼ªöhmiß ¤À ¹.8,000 H ¼ªöhm 
HØÖU öPõshx ©ØÖ® S ¼ªöhm PhÜ¢÷uõº ¹.20,000  
H ¼ªöhm EÒÍx ¹.30,000 öuõøP C¢u Á¸h® 
C»õ£® JxURmiØS ©õØÓ¨£mhx. 

 J¸[Qøn¢u C¸¨¦ {ø» 31 ©õºa, 1996 u¯õ›UPÄ®. 

20. Discuss the points special attention in connection with 
voyage accounts.  

£¯nU PnUSPÒ öuõhº£õP ¦ÒÎPÒ SÔzx PÁÚ® 
ö\¾zxQÓuõ ÂÁõv. 

 
———————— 
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